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Paper 2 and Paper 3 Predictions

Edexcel - Foundation
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You will need a calculator

R .
N\ A

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

-~
Revision for this test

www.corbettmaths.com/contents
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‘Question Topic Video number
1 Multiples and Factors 220, 216
2 Prime Numbers 225
3 Pictograms 161, 162
4 Coordinates 84
5 Bar Charts 147, 148
6 Symmetry 316, 317
7 Angle Facts 35, 30, 34, 39
8 Units 347, 349
9 Mean, Mode, Median, Range 56, 50, 53, 57
10 Collecting Like Terms 9
11 Listing Outcomes 253
12 Use of a Calculator 352
13 Volume of a Cuboid 355
14 Negative Numbers 205-209
15 Angles in a Triangle 37
16 Angles in Polygons 32
17 Standard Form 300, 302, 303
18 Negative Indices 175
19 Recipes 256
20 Percentages of Amounts (Calculator) 235
21 Translations 325. 326
22 Reilections 272,273
23 | Rotations 275
24 Enlargements 104. 105. 107
25 Volume of a Prism 356
26 Frequency Trees 376
27 Canstructions 72,78, 83
28 Two-way Tables 319
29 Factorising 7
30 Laws of Indices 174
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|
' Quesﬁon % Topic Video number
31 | Venn Diagrams 380
32 Tree Diagrams 252
33 Currency 214a
34 Angles in Parallel Lines 25
35 Speed, Distance, Time 299
36 Best Buys 210
37 LCM, HCF 223, 224
38 Ratio 270, 271
39 nth Term 288, 289
40 Drawing Linear Graphs 186
41 Stem-and-Leaf 169, 170
42 Estimated Mean 55
43 Trigonometry 329, 330, 331
44 Compound Interest 236
45 Reverse Percentages 240
46 Simultaneous Equations 295
47 Factorising and Solving Quadratics 118, 119, 120, 266
48 Bearings 26, 27
1 Here is a list of numbers
6 10 11 16 24 30 40

(a) Write down a multiple of 20

(b) Write down a factor of 12
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All prime
numbers are odd

Gemma

a prime number

lis

3. The pictogram shows the books Claire read last year.

Key O represents 8 books

Romance Q @

Crime O a

(0

Hor‘r‘or‘! (@ @

Il

FacTuai @

(a) How many romance

books did Claire read?

(b) How many horror books did Claire read?

(c) How many books in total did Claire read last year?
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4 Al e 1\1 4
-1

4 §

—4

-3

4

(a) Write down the coordinates of L.

(b) Write down the coordinates of M.

(c) Find the coordinates of the midpoint of LM.

5. Ms Bell asked the 32 students in her tutor group which language they study.
Each student studies one language only.

16|

Lo o

; I+ S =16
e - 6

German Spanish  French

Half of the students in the tutor group study Spanish.
Six more students study German than French.

Complete the bar chart.
(4)
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6. (a) An equilateral triangle is drawn below.

Draw all the lines of symmetry.

(2

(b)  Four small squares are shaded in the diagram below.

Shade in four more small squares to make a pattern with rotational symmetry
order 4.

(2
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68° 40

(a) Calculate angle x.

(b) Calculate angle w.

Qm Town | Beach 7&

2500

Work out the distance between the town and the beach.
State your units.

2500+ %50
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9. A football team played six games.
Here are the number of goals they scored in each game:

6 0 3 2 2 2

(a) Work out the median number of goals scored.

[T AT

(2)
(b) Work out the mean number of goals scored.
(fs4=5 5
(2)
The football team play one more game.
The mean number of goals scored increases to 4.
(c) Work out the number of goals scored in the seventh game.
'_;Z)(L(, & g4 [fohj " ?gmzoj
24 -~ 18 0
(2)
10. (a) Simplify S+S+S5+S-8
o
(1)

(b) Simplify 5¢c-3s+3c+7s
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(c) Simplify 8a+3c-5c+3a

(d) Simplify 3a + 2w —5a - 9w

(2)
(e) Simplify 3y2 + 2W? + y2 — w2
‘) s
o O o S
(2)
11.  Molly visits a restaurant with her friends.
This is a menu.
Starters Mains
Soup Chicken
Prawn Cocktail Beef
Melon Pizza
Molly chooses one starter and one main.
List all the possible combinations.
S [ s ﬁ fp .............................
...... W ¢ 0 JSR) B TR B
Me ME mp
(2)
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12. Calculate the value of

13.2 -1.29
39.1-448

(@) Write down your full calculator display.

(1)
(b) Give your answer to three significant figures.
=2-07 -
(1)
13
2.5cm
] 1.8cm
42cm
Work out the volume of this cuboid.
State the units of your answer.
‘, B
Gy 118X
13-4 n’
M
(2)
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14.  The temperature, in °C, at midnight at a weather station on 5 days was recorded

Day | Monday | Tuesday |Wednesday| Thursday | Friday

ey

|Temperatwre | -4 | 1 | -6 | 1 | -2

(a) What fraction of the days had a temperature below 0°C?

3
........... S -
(1)
(b) What is the range of the temperatures?
Jd
11-8 = F'c ]
.............................. ‘C
(1)
(c) What is the mean of the temperatures recorded?
(<4 + (1) + )41y + (1) =10
~l035
‘2 .................... G
(2)

15. Shown below is an isosceles triangle.

82° |90~ 42 = 94

Work out the size of the angle marked w.
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16.  Shown below is a regular pentagon.

(a) Find the size of each interior angle.

&

Three identical regular pentagons are joined as shown above.

(b) Work out the size of angle y.

4 30

[0
iog Z-LL)L
324 2
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1z Write the following numbers in standard form.

(a) 40000
L
Aol
(1)
(b) 5600
7
Seb x 10
(1)
(c) 41200000
ldx e
(1)
(d) 0.00000008
-
....... Txi0
(1)
18. (a) Write as a fraction.
-3 |
i f/
(A5
................... ( 1)
(b)  Work out
25
...................... ( 1)
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19. Shown below is a recipe for Stuffed Turkey.

Stuffed Turkey

Serves 4
Turkey 500g
Red Onion 1
Garlic Cloves 2
Chestnut Mushrooms 150g
Spinach 140g
Chicken Stock 300mi

Mary wants to make Stuffed Turkey for 10 people.
How much of each ingredient is needed?

Include units.
f}o 3_03 Turkey: !9”( ..............
L J Y Red Onions: ..... 2-\/1 ....................
5209 'F"T Garlic Cloves: 5 .......................
250 7o Chestnut Mushrooms: .....o ;S_ ................
foom| 150 Spinach: Z?OJ .................

Chicken Stock: ... 750 |

20 The table gives information about the number of people voting for each party at
an election.

Party Number of Votes
Gold Party 12598

Pink Party 9112 % % oﬂ 52857 < b5 097

Brown Party 20059 )
Purple Party 4466 9 o é l{ 5o
7ofd (235 [(/550

There are 52852 people who can vote

The target was that 88% of people would vote. /Vo ﬂ£ /M(yj 7 /\} /ﬂ%

Was the target met?

3

© CORBETTMATHS 2017




2%,

left

(V)
Translate triangle A by the vector : U,”

(2

22.

Reflect the triangle in the line y = —1
Label the new triangle B.

(2)
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23.

Rotate triangle ABC 180° about centre (1, 0)

)

24.

S e —

X
6

SRV STRMSISl ERSOSOEE,

Enlarge the trapezium by scale factor 3, centre (6, 0).

(2
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25.  Shown below is a trapezoid prism.

Find the volume of the prism.
prod b (H8) x5 < o8
\[‘0/;,/}’!& 3 (X 'z

......................... cm?d
(4)
26. 62 people took part in a talent show
43 of the people were women.
10 people made it through to the final and the rest were eliminated.
3 men made it through to the final
a) Complete the frequency tree
(2)
b) What fraction of the men made it through to the final? /3/
......... s
(2)
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27.  Using ruler and compasses, construct the bisector of angle ABC.

A

(2

28. On a particular day, 98 adults visit a leisure centre.

Some are going to the gym.
Some are going to play tennis. 1
Some are going to play badminton. i F *"h’f

The rest are going swimming. 9 jn Al 19 [F()

51 people are male.

21 out of the 40 going to the gym are male. f‘%m) Lf g | L
19 males and 7 females are going swimming.
7 out of the 20 people playing badminton are male. [Mm ? ‘ 3 t;{()

Twice as many females play tennis than males.

Sevsy 19 1 a4

How many women play tennis?

shd |51 |67 ] 94
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29. Factorise completely

24x°% + 20x

(2)
30. (a) Simplify
m5 X m3
{
........... i
(1)
(b) Simplify
mB & m2
;
......... i S
(1)
(c) Simplify
(m3)°
{
............. e
(1)
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31. £={1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 16}

A = multiples of 3
B = multiples of 5

(a) Complete the Venn diagram

E.- A ) |

7 1Y

3)

One of the numbers is selected at random.

(b) Write down P (AN B)
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32. James goes to an arcade.

He has one go on the Teddy Grabber.
He has one go on the Penny Drop.

The probability that he wins on the Teddy Grabber is 0.2.
The probability that he wins on the Penny Drop is 0.3.

(a) Complete the tree diagram.

Teddy Grabber Penny Drop
Win
e
¥ 0.3/'/
<:’/
Win T
02 " 7T i
e T~ Lose
T, Win

(2)

(b) Work out the probability that James wins on the Teddy Grabber and he also
wins on the Penny Drop.

0-d X03* 0:06
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33. Acoatin London costs £60.
The same coat in Dublin costs €105.60.
The exchange rate is £1 = €1.65.

In which city is the coat cheaper and by how much?
Alo x |65 = €11
& lomlof\ (Zj AR
o0
pip77  los lg: 165 = Fbu
Tn lowdon 47 Fle

3

34. AB s parallel to CD.

Work out the size of angle y.
Give reasons for your answer.

LCFE = ( FEG /u#ema#e "”‘j/"” e fqua[)
AEFG s !505@/&32 so LEFG = LEEF :lea

LEEGF % LP6F we n a ,)ﬁ,,z?/jt Ie , 50 soly y 4 I1$0
IECE [ B6F = J(7°
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35. A cartravels 240 kilometres in 3 hours 15 minutes.

Calculate the average speed, in km/h, of the car.

.4 M o gy
'Z 3-15

.........................

36.

2159
40p

Which size can is the best value for money?
You must show all your working.

bo = 21< = o flp pu g
7y <345 = O,IX?/» pec g

Tie ’Urﬂ e Is M/ V“'L@

4
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37.  Helen thinks of two numbers.
The Highest Common Factor (HCF) of her two numbers is 5
The Lowest Common Multiple (LCM) of her two numbers is a multiple of 12

Write down two possible numbers that Helen could be thinking of.

(2)
38. At arugby match, the ratio of children to adults is 2 : 3
There are 6000 children in the crowd.
Each adult ticket costs £8
Each child ticket costs a quarter of the adult ticket.ig L2
Work out the total money made from ticket sales.
§o ra = ko
Lo x 3 = (20 M“ﬁ
71 |20 ;%q&(} //QO
72 » %o = /;/6/0 ... LLey -
/120 (4)
39. Thefirst 5terms in a number sequence are
1 4 7 10 13
(a) Work out the nth term of the sequence.
3n -
(2)
(b) Find the 50t term of the sequence.
a7 Rk RN R I MLg .........
(2)
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LO-
8 On the grid, draw y = 4x — 5 for values of x from -2 to 2.

g1 <1, ~i 0 SE
i S L S S-S e S

(4)
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41.  Helen plays darts.

Here are her scores.

55 23 48 29 41 47 36

35 40 35 44 34 35

(a) Draw an ordered stem and leaf diagram to show her scores.

z?y 23 mens 73

AL Il

w1 lE 9§ 5§
blg | 4 7 B
5| 5

(3)
(b) Write down the mode.
25
.................. =
(c) Work out the range.
$5 - 213
________ It
(1)
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42.  Timothy asked 30 people how long it takes them to get to school.

The table shows some information about his results.

_"_“TVl_me (t minutes) Fr;aqucné;r WJ/” '71 {‘i
0<t<10 | 2 g (O
10<ts20 S L0
 20<t<30 LEE T A 260
0<ts40 | 7 | 3¢ A5
 40<t<50 ;1 . “ Y 45~
30 Ly
Work out an estimate for the mean time taken. ?"20
F30 =30
........... ‘..Q.\...L(.......minutes
4)
43.
B
Q (0]
13cm ) =
12cm Jin @ = 7
g Sng =
e 0\, s
Calculate the size of angle BAC. & 17 ﬁ
Jilr /3
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44. Fiona leaves £1600 in the bank for four years.
It earns compound interest of 4% each year.

Calculate the total amount Fiona has in the bank at the end of the four years.

L
(600 x 104 = FI167137

(3)
45. Lauren is given a 12% pay rise.
Her new salary is £24,080
What was Lauren’s salary before the pay rise?
Na% = *ro4g0
/g, = &§
1009, = Q500 £.. 21500
(3)
46. Solve the simultaneous equations
|/ 8x+5y=1 X735 \
8 2x-3y=7 X& M e
Do not use trial and improvement Lh--23~ # v

’Q%LEJ_“’_EQ
19 = 34

z: % L S
py‘/’ 1,32 ll‘/& @ ............................................... (4)
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47. (a) Factorisey2+7y+10

(b)  Factorise y2 — 12y — 64

(c) Factorise fully y2 — 25

(d) Factorise y2 — 13y + 36
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48.  The diagram shows the position of two people, A and B, who are on their Duke
of Edinburgh expedition.

St

The bearing of person C from person A is 062°
The bearing of person C from person B is 275°

In the space above, mark the position of person C with a cross (x). Label it C.

(3)
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